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O3Ha4YeHHS NOXIOHOI

3) 3maiineMo rpaHuIo MHOrO BiJHOMIIEHHS IPU YMOBI, o0 AX —0, To6TO:
X X, + AX) — f(x,
i g YO S+ A9 - f)

=0 Ay =0 Ax i*"':' Ax

SIkmio naHa rpaHuis ICHye, TO il Ha3WBAKOTh MOXITHOK (QYHKUIT y=f(X) B TOYMI X, 1
4 !
Mo3Ha4yaroTh f'(X,) aboy'.

ﬁoxinHom (PyHKUIT y=f(X) B TOYli X, HA3MBAETHCS IPAHUUA Bizmomemm\
npupocry (yHKOili A0 NPUPOCTY APryMEeHTY NPH  YMOBi, 10 MPHPICT
APryMEHTYy NPSAMYE€ /10 HYJISl, 4 TPAHULA iCHYE, TOOTO
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DyHKIIA IToxigHa

y=C, C — craja y=0
y=x’,pe Z =pxEs*

; 1

y =z y=
2\x

y =sinx Yy =cosx
Y = COSX y' =-—sinx

: 1

y:tgx Yy = g
cos” x

: 1

y=ctgx Yy =-—




[Touknadu 3Haxo0XeHHS NOXIOHUX

3 7 N
Mpuknag 1. f(X)=x —x°"+x—4;
== +x=9' =) -0 +(0) =4 =3x" - 2x+1+0=3x" —2x+1;
Y,
. R
Npuknag 2. f(x)=cosx+sin x+5;
f(x)=(cosx+sn x+35) =(cosx) +(sth x) +53" =—sin x+cosx+0=cosx—sin x.
Y,
‘ '
/l_lpl/ll(}'laﬂ 3. f(x)=x" +tgx—ctgx )
r ) [ Syt r ] 3 1 l’f 1 \i
F =0 +ege—ctg) =(x7) + (@) —(ctgn) =6x +——— 1 —— |=
cos“x \sm°x)
=6x" + 1, + ,1, = 6x° + ’}'+,c°f X 6+ ,4, — =6x" +— 4 .
\ !COS‘X 314 B COS™ xsm1 " X dcos” xsin " x sm‘?..y
1 » o i



[lpasura ougepeHUito8aHHs
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[Touknadu oughepeHuir8aHHs

MNMpuknag 1.

vi=(xstn x) = x"sin x+ x(stn x)' =1-sin x+ xcosx =5 X+ xC0s X;

V= X-sin X;

ﬁ7pm(na,q 2.

y=5x" +6x +2x— Ttex:

Vi=(5x7 +6x7 +2x—Trgd) = (5x°) +(6x7) +(2x) — (7)) =

SN 27 r - ’ - = - 1
=5-(xX)+6-(x)+2-x-7-(7gx) =5-5x"+6-2-x+2-1-7- -
cos” x
25x% +12x+2——
Cos™ X
/Mpuknag 3. -
y=—
Sl X

B (x*)'sin x— x° (sin x)' . 3x° sin x—x° COSX

sin © X

sin © X

S




y = (x)'-cosx—(cosx)'-x 1-cosx—(—sinx)-x
COSX cos’ x cos’ x

_ COSX+X-sinx /
| (3,

() =(=—

COS X

Jiaad oO.

\1)
7 $

(;:3)’ =(x7%) =-3x73"1= _3x-4 _ _i

x4




MNMpuknag 7.

1 1 1
(cosx +-)' = (cosx)" + (;)' —sinx — =

lNMpuknag 8.

1 1

(tgx+\/_) = (tgx)' + (Vx)’ =

lNMpuknapg 9.

7 ) 6 .
(sx +11)I - 3Sx6.5lnx_5x7cosx 5x (7Slnx—XCOSX)
sinx sin2x sin®x



3aBgaHHsa 3 3HO.

YkaxiTb NoxigHy yHKLT y= - — x0+5x%-14.

§)

A B B r i
y'=s - " 4x y'= y= _3% o
6 = 7x5+20x3 |y'= 7xT+25x5| 7
7x5+20x3-14 |Y T TIXTTE|Y = 2 XCTAX 5 3
14x -

y'=_ L 6x6'1 +5. 4X4-1 -0=-7X5+20X3.

O




a.

3aBgaHHsa 3 3HO.

YKaxiTb noxigHy pyHKUil y=sinx-cosx+1.

A b B r 1|
y'=cosx+sinx+| | _ y'=-cosx- | |, _ , _
1 y'=cosx-sinx ST y'= -cosx-sinX| y'=cosx+sinx

y'=(sinx-cosx+1)'=cosx-(-sinx)=cosx+sinx.




3aBgaHHsa 3 3HO.

YkaxiTb noxiaHy dyHKuiT f(X)=x(x3+1).

A B B r n

f'(X)=4X3+1 f'(X)=4X3 f‘(X)=3X2 f‘(X)=3X2+1 f'(x)= IT+I_-

A.
y'=(x(x3+1))'=(x*+x)'=4x3+1.



domaluHs pob6ora.

[Map.20 Homep. 20.10; 20.12;
20.18



